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1. 88 ofoa

1. £Bog g=déha
(a+b),(a-b),(atb) e» (a-b) o> e yeodennss, QR &.00.65. 9IS
esg Sun Blednn e’ v e aD. (B3 a8 OB O® yewIderns’ 88ss »Jd
©5§.
(a+b)*= (a+b)(ath)
=a(a+tb)y+b(a+b)
= (a*+ ab + ab + b?
=a +2ab+bh? — (1)

(a-by= (a-b)(a-b)

=a(a-b)-b(a->b)

= a*-ab-ab+ b

=a -2ab+b* —_____(2)

SIS

9 (1) 8 oS BIEEO b = -b rednens’
[a+(-8) = a* +2a -0+ (- )
(a-b)? = a*-2ab+b’

(a+b)y = (a+b)(a+tby
= (a+b) (a*+2ab + b?)
=a(a*+t2ab+b*)+b(a*+2ab+ b
= & +2a’b+ab’ +a*b +2ab* +b’
= & +3a?b+3ab* +b—__ _(3)

(a-by = (a-b)(a-by
= (a-b)[a*-2ab + b*]
= a(a*-2ab+b*)-b(a*-2ab+ b
=a -2a°b+ab® - a*b +2ab* - b?
= & -3a*b+3ab’> - — (4)

@®g
90 (3) 8 RS gBOEEO b = -b arednens’
[a +(-b)P = a® +3a2(-b)+3a (-b)® +(-b)’
(a-by = a’-3a’b+3ab?®-b



QD §e0eRDEO COBE e3den (83 Bty Ced.
oo (1) 8 gB3cs ©8m »J (a +b+c) 8 yeosens Eo@.

(@ tbtcy =[a+tb)+tc]
= (a +b)> +2(a +b)c+c?
=a? +2ab+b+2ac+2bc+c?
=a?+b*+c*+2ab+2bc+2ca

(a +b* =a>+2ab+b?

(a- by = a’> -2ab+b?

(atb)y} = a +3a*b+3ab?* + b’

(a - by = a* -3a*b + 3ab* - b*
(atb+c)y=a®> +b*+c+2ab+2bc+2ca

0 3BOE H»ID®HeBs’ ©1Og .
CODOHM 1
5e200ene DO BuBIB.
@) (2x + 3y)?
(i) G+ 2y (v [ab _ ET
v) (@a+b-c)? ‘

@ Qxy- 52

(1) (2x+3y)? = (2x)*+2x 2xx3y+(3y)
=432+ 12xy +9?
(i) (2xy-5z)> = (2xy)*-2x 2xy x5z + (5z)
= 4x}? - 20 xyz + 25 22
(iii) (Bx+2y) = (3x)*+3 x(3x)*> x (2y) +3 x (3x) x 2¥)* +(2y)*
= 27x*+ 54 x*y +36x)y* + 8°

3 Z 3
(v, (ab —E] = (ab)’ -3 (ab)* x 2 +3 (ab) [E] ) (E]
€ C o [

v) (a+b-c)y =a*+b* +c?* +2ab-2bc-2ca



coODOH 1.2
atb =4 wn ab =5 ece & audmnd,
(1) a>+ b e» (i) @+D avssS>.
(i) (a+ by =a* +2ab+b?
a +b> = (a+b) - 2ab
=4 -2x5=16-10=6

(i) (atb)y =da +3a’h+3ab*+ b3
a+b = (at+b) -3a’-3ab?
= (a+b) -3ab(a+b)
= 4 -3 x5x 4
= 64-60 = 4
gosIsc 1

SO BEHBS GDIRDOE YT HBS3 BBBI.

1 2
1. (2a+3by 2. (3a-4by 3. (x+;]
4 s 5o S [1+1T o [xo1)
. (2xy+352) S D . .
]
[E—ET 8 [1_3] 9. (4xy - 32)?
> g B . (4xy - 3z2)
10. (a + 2b)? 11. (2a - by’ 12. (3a+2by
1y 1y
13. (x+:] 14. [”‘;J 15. (ab - 2¢)?
16 [l+l]3 17 [1—3]3 18. (2xy - 3z)?
S R S . (2xy - 32)
19. (a+b+c)y 20. (a+b-c) 21. (a-b+c)
22. (a-b-cy 23. (a-2b+c) 24. (a-b-2c)

25. (Boe esdents DIIDDEns’ $0E ©e30B5I.
(i) 101° (i) 198 (iii) 4013 (iv) 9993

26. (B¢ yenden BEAC ¢()® 0IDDHEBS FOB ©L0BEI.
(i) 101> +2x101 x99 +99° (i) 88* -2x88 x 87 + 87*



27. &8¢ gwaden BEAC 1® DRSS @06 @t’BI.
(a) 513 +3x51%2x49 +3x51 x 49> + 49
(b) 101° -3 x 101> x99 +3 x 101 x 99> - 99°
28. ©m ©BCHS’ GIRD BH5 D eBBOBD. (DY, wmBIsHE IBIB).)
)  (at+by t(a-by=2(+b")
(i1) (a+b) -(a-b) = 4ab
(iit) (a+b) +(a-b)y = 2a(a*>+3b*)
(iv) (atb) -(a-b)y=2b@Ba*>+b")

1 1 1
29 x+; =a »®, (a) x* +? e (b) x t—= aeecs’ gme »OsID.
x

30 x-y=4 e xy=219, ¥ -)’aos cssim.

1
3l (xty) =—7 28, x*+) -8 avc eeicsio.

3
1 3 1

32.  a- Pl 550, @ T 200 8 @oc ewes3D.

X" -
33. =4 59, — =76 030535,

x
X
o —1 a’ -1

34. =2 9, — 8 206 ewinsID.

a

e

35, atb-3=08, &’+b+9ab-268 aos ewicsis.

36.  atbhb-7=0w@» ab=128, a’+b*+t4ab(a+b)8B ave ewrcsio.
37. p=2q+4 8, p’-8¢-24pqg= 6420 eoziosto.

38. a+tb+tc=0>8, &’ +b+*=3abc 3D cvs3053.

3. ptg=l+pg>® pPP+¢ =1+ p3q33 R0 eBBOBIB.

40.  ab(a+b)=p =8, & +b +3p= f—g 90 cuDsm.
¥



2. oD exbe
2. B58x gmeade =1d» c=B®

21 @ g

Bese g9m0@s 83w ¢Lmnden BBesns

x> -5x-6, 2x*-5x? -3x

3x* - Sxy-2)?

coODo& 2.1

X* -5x-68 en ewmiesis.
=x? -6x+tx-6
=x(x-6)+1(x-6)
=x-6)(x+1

CoODOeH 2.2

2x3 - 5x% - 3x ©00m0E0 0053 mIBID.
=x [2x* - 5x - 3]
=x[2x* - 6x +x-3]
=x[2x(x-3)+1(x-3)]
=x[(x-3)2x+1)]
=x(x-3)2x+1)

CoODO0H 2.3

3x? -4xy -4y? 8 e ewiesio.
= 3x? - 6xy + 2xy - 4y?
=3x(x -2y)+2y (x-2p)
= (x-2y) Bx+2y)

CoODOH 2.4

200 etnsi. 2 (x +3) -7 (x+3)-4

x+3 =aece 08E.

80 = 2a*-Ta-4
=2a*-8a+ta -4
=2a(a-4)+1(a-4)
=QRa+1)(a-4)
=[2(x+3)+1] [x+3-4]
=2x+7)(x-1)



CO®»OHM 2.5
22a+b)P?-5QRa+b)(a-2b) -3 (a-2b)] 8 el e3>,
x=2a+bc¢ y=a-2b ¢ o8 o5g.
©80 = 2x*-5xy-3)°

= 2x* - 6xy + xy - 3)?
=2x(x-3y)+y(x-3y)
=(x-3y) (2x +y)
=[(2a+b)-3(a-2b)] [2Qa+b)+ (a-2b)]
=(7b-a)5a =5a (7b -a)

22 Obe ecod gIMOR
a -b> =a* -ab+ab-b
=a(a-b)+b(a-b)
= (a-b)(a+b)
a’ -b* = (a-b)(a+b)

CO®»OoHm 2.6
@b - ab’8 0 e,
= ab (a* - b?)
=ab(a-b)(a+b)
CO®»OHM 2.7
2007 etestm. xt -1
= (x2) - 12
= @-DE+1)
= (x-DE+1)E>+1)
CoODOH 2.8
a* + 4b* ©00mOE0 @053 »IBIH.
a*+4b* = a*+ 4a* b + 4b*- 4a* b?
(a®> +2b%) - (2ab)’
(a® +2b%-2ab) (a* +2ab+ b?)

CoODOH 2.9
1 -a*>+2ab-b 8 e oicsis.
= 1-(a®-2ab + b?)
= 12-(a-b)?
= [1-(a-b)][1+(a-b)]
=(l-a+b)(l+a->)



2.2 a@+bh e -0 8 o esde

(a+b)(@-ab+ b8 g&Evs cco.
(a+b)(a*-ab+b?
= a(a*-ab+b*)+b(a*-ab+b*
=a*-a*h +ab*+ a*b - ab® + b?
=a+b
@+b = (a+b)(@-ab+b?
©®@ecen® (a-b)(a*+ abt b?) g0 88e@s @®-b cred.
(a-b)(@+ab+b)=a(a®+ab+b*)-b(a’>+ab+ b
= a’+a*h+ab*-a’h-ab*- b’
=a’- b’
a-b*=(a-b)(a+ab+b
a+b> =(a+b)(a*-ab+ b’
a- b =(a-b)(a®>+ab+b)

OO 2.10
81x* - 3)° 8 00> ewinsis.
= 3[27x° -)?)
=3[Gx)’-)]
=30Bx-y) [GxP+3xxy+ ]
=3(Gx-y) (% +3xy+ y*)
CoO®»Oosm 2.11

3 1 e300 eeiwsis.

X 2
s R o)
Ftrt—==lxt+t—|[ 2" —x¥—+|—

x x XWX
1

CoODo&H 2.12

3 _l 23002 @e0BBID.

g x3—i—[x—l] Jr:2+x><l+(l]2
© x XWX
1

X



CoODOH 2.13

8@+ (b +c) 8 e ewicsis.

8a2 +(b+c)P = (2a) +(b+c)
=[2a+ (b+0)] [(2a)-2a (b+c) +(b+c)]
=(2a+b+c) (4a*-2ab-2ac +b*+2bc+c?)
=(2a+b+c) (4a*+b*+c* -2ab -2ac+2bc)

CoODoH 2.14

e300 eesi®. a’-27(b - ¢)?

a-27b-c)} = a-{3(b-0)}
=[a-3((b-0)] [@+3a(b-¢c) +9(b-c)]
=(a-3b+3c) (a*>+9b*>+9c* +3ab - 3ac - 18bc)

CO®OHM 2.15

(1)
(i1)
(iif)

(M)

(i)

(iif)

(a+b)y+ & 8 e enesss.
(a+ b) 8 gessems Ew 0083 a’+b° = (ath)® - 3ab(ath) 3D evs3Dsi>.

Qv OB3E »IBpewss, a’+ b+ ¢ -3abc 8 e eercsis.

(a+tby+ ¢ =[(a+tb) +c]la+b)y-c(a+tb)+c?]
= (a+tb+c) (a*>+2ab+ b*-ac - bc+c?)
=(a+b+c) (@>+b*+c* +2ab -ac-bc)
(a+b) =d*+3a’b+3ab*> + b
(a+ by -3a*b-3ab*> =a’ + b’
(a+b) -3ab(a+b = a +b°
@ +b*= (a+b)-3ab(a +b)

a+ b+ ¢ -3abe

= (atb)’ - 3ab(a+b) +c* - 3abc; [9om (ii) 53]

= (atb)’ +c* - 3ab(atb) - 3abc

= [(a+b) +c] [(at+b)* - ¢ (a+b) + * ] - 3abla+b+c]; [oom (i) 3]
=(atb+c)(@®+b+c*+2ab-ac-be)-3ab(a+b+c)

=(a+b+c)(@+b*+c*-ab-bc-ca)



gosIsc 2.1

£30002D ©E30C35IB).

— O 3 W W —=

29.

31.
33.
34.
35.

1.
13.
15.
17.
19.
21.
23.
25.
27.

X*-x-6

x> +5x-6

x? +x-42

2x* +5x +3

2x* +5x -3

10 - 7x - 12x?
18x% - 33x - 216
2x* - Sxy + 3y?
4x* + 8xy + 3y?
40x%* + 49xy - 24

24a* - 17a*b - 20 ab?
(@ - 3a)*-38 (a* - 3a)- 80
2 (xty)?* - 3(xty) -27

x? +x-(a-1) (a-2)

1
x2 - [ﬂ+—] X +1
i3

ax? + (ab-1) x -b

2. x* +4x-96

4. x? -4x-12

6 x* -9x + 18

8. 2x* -5x+3

10.  2x* -5x-3

12. 15+ x-2x2

14.  6x* -55x + 126

16.  6x* - S5xy - 6)?

18.  2a® -27ab + 13b?

20.  32x% - 36xy - 35)°

22. 18a® - 3a*b - 10ab?

24, (atbtc)Y-3at+tb+c)-28
26.  2(2xty) - 52xty)(x-2y) + 3(x-2y)?
28. x? -x-(a-1) (a-2)

30.  x* +2ax + (atbh) (a-b)

32. x* +ax-(6a* - 5ab+ b*)

4(a® -b*)* - 8ab (a* - b*) - 5a* b*
10(a+2b)* + 21(a+2b) (2a-b) - 10(2a-b)?
6 (x+y) -5 -)")-6(x-y)

goxIEc 2.2

£30002D ©E3035IB).

10.
13.
16.
19.
22.
25.

x2 - 4y?

xX3-x

16 - (atb)?

1 - (a-b)?

X oy axty

a* -b* -4a+4b
a(a+1) - b(b+1)

a* +5a*b* +9b*
xt+x? +1

11.
14.
17.
20.
23.
26.

1
X -x 3. X2 - =3
x
4 - 9a? 6. (a-4b)* - 9b?
9 - (a-b)’ 9. 12a° - 3ab?
1 - (atb)’ 12 xX*-y*-x-y
X -y +tx+ty 15. x> -y +x-y
a-b*-4a+4 18.  ab +ac - (bt+c)?
X3 A 1. xRyt

X2 -dxy+ 4? -72 24, 4a* +b?-x* +4dab
4a* + 11a* b* +9b*



230029 BEAT ¢(B® DIDDHEBS GOB @LIBTID.

. 100*-99 2. 94°-36

4, 62>-3.8 5. 100 x 99+ 1
7. Jiagx140+16 8.  319°-318 x 320
10. 103 x97

goxIsc 2.3

£30002D ©E30C35IB).

L. a*+ 8b* 2. 274 - b?
;1

4. 8a*b® - ¢ 5. x +x_3

1 1 1 1
Ty & FE
10. a +(b-c) 11. a -(b-c)
13. (a+b) +(a-b) 14. (a +b) -(a-b)
16. X0 -0 17. x8 + 8
19. (@) (ath) +¢* 8 e eernsis.

(b) @ +b*=(a+b)-3ab(ath) D exs3Dxs3®.

12.

18.

12.38%- 7.622
11.7 x9.3+83 x93

12.5 - 13 x 12

1254° - 64b°

;1
T3
X

a® + (b+c)

8&x* +(2y - x)°
8(a +b)* +(a+b)
Xt -27

(c) ov> (a)»(b) 8 5 B wBvews’ @’ +b*+c’ -3abe 8 e eernsis.

OB, D BCWS DNSCOE 300D BTGB,

6) X+ -2+ 3xyz
(ii) 8x*+ '+ 2 -6xz
(iii) X+ 8y =272+ 18xyz
(iv) a’ -28b° - 9ab®
v) 8a® +b* -1+ 6ab
20. () a=b+c »®, a -b -
(i1) atb+c=0 9,

@) z=2x-3y »9, 8x°-27)°-

A =3abc 99 essiDsi.
a + b+ A =3abc 39 o530,
22 =18xyz @9 ewusidsi®.

2. xty+tz=0@a92aw. X +t) +22=3xz20 cos503>. O35 s ©CHss

B8 DNBEOE 0D @B,
() (a-b)’ + (b-c)* + (c-a)’
(ii) 2x -3y) +(By-4z)+8Q2z-x)}
(iii) a® (b-c)’ +b* (c-a)® + 3 (a-b)’
(iv) (x -3y +Q@y-4zP+@4z-x)°

10



3. 58c o

3.1 28 ® et EMDOE ().65).6)
O 28 Y FDed BIDOE RHBHBS @R Bk O(Be®n3, B8oE ANBLOR
N © @B QEDIDICEB BYHEEDLT ETGIOD BT .
coODoH 3.1
8x},12x° , 00 18X 8 . @, @. ©@e30w53.
8x3=23 x x?
12x°=22%x 3 x x°
18x7=2 x 32 x x’
Lo e, @ =23 x 32x x7 =72
COD0H 3.2
2x*-8,3x2+3x-6 e 6Xx°-6x-12 8 . e @. 0653,
2x?-8= 2(x* -4) = 2(x-2) (x+2)
3x2+3x-6 =3(x* + x-2) = 3 (xt+2) (x-1)
6x°-6x-12=6(x>-x-2) =6(x-2)(x+1)
. @0, @. =6 (x-2) (x+2) (x-1) (x+1)

58c mo gO© 868
2 3

21 (z-1°
8egeds’ ® (X2 -1) @y (x-1)’8 . em. @. ©0c.
x2-1 = (x-1) (xt+1)
(x-1)? = (x-1)
D). o0, @. = (x-1)* (x+1)
2 3
-1 (x-1°
2 3
(x=Dix+D (x-1°
20x—1)=3(x+1)
(x—1F(x+1)
-x=5
(x—1F(x+1)
_ =+
T (x=1F (x4

EODoHM 3.3 80 OB,
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CODO0H 3.4
80 WOB..
2 1 3x
+—+
I+ -1 1-=x
2 1 3x
+

2

N 1+x_1—x 1- %

2 1 3x

+
1+ 1-x (1-2(142x)

2(1- x) - (14 %)+ 3x
(1-2)(1+7)

1

(1-x114+x)
CO®»OHM 3.5
Q 953 + ! - 2
§© Do -4 Fr—6 x+5x+6
1 1 2

(x—20x+2) " (x+3(x—2) - (x+20x+73)
E+E24+x4+2-2(x-2)
(x—20x+20(x+3
9
(x— x4+ 2(x4+3)

CO®»OHM 3.6
3x 4 &
7t B
2-3x+x" 1-x Z-x
3x 4 &
+ —
(2—x11-x) 1-x 2-x
Ax4+4Z-x1-6{1-x)
(2—x)(1-x)
2+5x
(2—x11-x)

80 WO,

12



OO 3.7

a+2 £
+ ]
a—2 d4-—a
_a+2_ 4 3
Ca-2 &' -4
:a+2_ 4 1
a—2 (a—2)a+2d)
@+ -4 (a- Dia+2)
B (@—2)a+2)
_attdat+d-4—(a’ -4
- (a— 2)a+2)
_ Aa+D
C{a-2a+2)

-1

CO®OHM 3.8 O OB 4 3

1-x

—

2—x
1 _ 1
= H2-x-31-x) B—4x-3+3z
(2—x) 2—x

—

|
h
|
y
|
]
|
-

-2
|
P
I_h
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CO®O0s 3.9
80 O,

¥ —25 -4 x+1
z X3 *
¥ 4+3E3x-10 2 -3x-10 x"+3x

|(J:—5]||:Jr+5]|Xl(x—E]l(;c+2]l>< x+1
B (x4+50x=-20 (x=5(x+2) x(z+7)

x+1
x4+

CO®OH 3.10

x2—3x+2; x -1
(x—3) 22" —6x

x2—3x+2x oxt —6x
(x—73) -1

(x—Tx-2) N 2x(x—=13
(x=2) (x=1(x+1)

3 2xlx—2)
- x+1
CoO®»Oom 3.11
_ 1+ 1+ 2z
*= Dy—1 @y V= - oG & gfm® zwsim X @1eeds’ EIR DIBIB.
_ 1+ 1+ 2z
PO, @ YT, 98Fy 9o Sees,
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